










Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.

एक रैखिक पंखि में उत्तर की ओर उन्मिु व्यखियों की संख्या अखिखित ह।ै Y, G के बाएं से पांचवें स्थाि 

पर बैठा ह।ै Y और P के बीच दो व्यखि बैठे हैं। P खकसी एक अंखतम छोर से दसूरे स्थाि पर बैठा ह।ै Z और 

G के बीच पांच व्यखि बैठे हैं। Z, Y का खिकटतम पडोसी िहीं ह।ै खितिे व्यखि G और Z के बीच बैठते 

हैं, उतिे ही व्यखि Z और Q के बीच बैठते हैं। खितिे व्यखि P और Y के बीच बैठते हैं उतिे ही Y और X 

के बीच बैठते हैं। Q, छोर से तीसरे स्थाि पर बैठता ह।ै



Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.



WRY   COB   MUG   GYM  ARE   ROE

If all the words are arranged in dictionary order from left to right, then how 

many words remain unchanged in their position?

यदि सभी शब्िों को बाए ँसे िाए ँशब्िकोश क्रम में व्यवदथित दकया जाए, तो दकतने शब्ि अपनी 

दथिदत में अपरिवदतित िहते हैं?

A.One

B.Two

C.Three

D.More than three

E.None



BAG CUB DRY JET NEW

If all the letters in each of the words are arranged in alphabetical order within 

the word then how many words thus formed will be meaningful?

यदि प्रत्येक शब्ि के सभी अक्षिों को शब्ि के भीति वर्ािनुक्रम में व्यवदथित दकया जाए तो इस 

प्रकाि बने दकतने शब्ि अििपूर्ि होंगे?

A.Three

B.Four

C.One

D.Two

E.None



Q W T F J L O C B U M K I P O M A S H G D I L J O

If the first 14 alphabets are arranged in reverse order, then which of the 

following alphabet is 15th from the right end?

यदि पहले 14 अक्षिों को उल्टे क्रम में व्यवदथित दकया जाता है, तो दनम्नदलदित में से कौन सा

अक्षि िायें छोि से 15वाां है?

A.L
B.O
C.F
D.T
E.W



BAG CUB DRY JET NEW

If the first and last letters of each word are interchanged then the last and 

second letters interchanged their position, then how many words end with 

vowels?

यदि प्रत्येक शब्ि के पहले औि अांदतम अक्षिों को आपस में बिल दिया जाता है तो अांदतम औि 

िूसिे अक्षिों को आपस में बिल दिया जाता है, तो दकतने शब्ि थविों के साि समा्त  होते हैं?

A.None

B.One

C.Two

D.Three

E.Four



In the word “DUTIFUL”, how many pair of letters has as many 

letters in between as they have in between them in English alphabet 

series?

शब्ि "DUTIFUL" में, अांगे्रजी वर्िमाला श्रांिला में अक्षिों के दकतने 

जोडे के बीच में उतने ही अक्षि हैं दजतने उनके बीच में हैं?

A. None

B. 1

C. 2

D. 3

E. None of these



Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. D ≥ O II. M ≥ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: B < C = D ≤ X ≤ Y < Z

Conclusions: I. B < X II. Z ≤ C

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: S ≤ P ≤ A = R > E ≤ D

Conclusions:  I. A > D II. S ≤ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: L ≤ K < J ≥ U; R ≥ T ≥ J

Conclusions:  I. T > L II. U ≤ R

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Q. In a Certain code MIND is written as 1711175 ,than find the code for 

JOY ?

Q.एक दनदित कोड में MIND का कोड 1711175 दलिा गया है तो JOY का कोड

क्या होगा ?

1. 111729

2. 101525

3. 121719

4. 191820

5. None of these



Q. In a Certain code FATHER is written as LBVPJA ,than find the code 

for BABY ?

Q.एक दनदित कोड में FATHER का कोड LBVPJA दलिा गया है तो BABY का

कोड क्या होगा ?

1. DBBE

2. DBDF

3. DBDT

4. DBBF

5. None of these



‘known life happy friend’ is written as ‘5urev 4ulfi 5urev 6hrc’ , 

‘moon white happy child’ is written as ‘4ulfi 5urev 5urev 5urev’’ 

‘life child white snow’ is written as ‘4ulfi 5urev 5urev 4ulfi’ 

‘happy white colour smile’ is written as ‘5urev 5urev 6hrc 5urev’ 

What does ‘3gsivv’ stand for in possibility? / '3gsivv' का क्या अथथ ह?ै

(1) great (2) norm (3) fear (4) war (5) onion



‘known life happy friend’ is written as ‘5urev 4ulfi 5urev 6hrc’ , 

‘moon white happy child’ is written as ‘4ulfi 5urev 5urev 5urev’’ 

‘life child white snow’ is written as ‘4ulfi 5urev 5urev 4ulfi’ 

‘happy white colour smile’ is written as ‘5urev 5urev 6hrc 5urev’ 

‘2gdl 5urev 3gsivv’ could be a code for which of the following?

'2gdl 5urev 3gsivv' खिम्िखिखित में से खकसके खिए एक कोड हो सकता है?

(1) to love ones

(2) he helps her 

(3) he never do

(4) is he smile

(5) who do this



Statements:

Only a few mails are gmail.

Some gmail are google.

Conclusion

Some mail are google .

No google is mail .

कथि: 

केवि कुछ मिे िीमिे हैं। 

कुछ िीमिे गगूि हैं। 

खिष्कर्थ :

कुछ मिे गगूि हैं। 

कोई गगूि मिे िहीं ह।ै



Statements:

Only a few mails are gmail.

Some gmail are google.

Conclusion

Some mail are google .

No google is mail .



Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.

कथि: 

सभी डक बडथ हैं. 

सभी बडथ स्पैरो हैं. 

केवि कुछ क्रो स्पैरो हैं। 

खिष्कर्थ: 

सभी क्रो बडथ हैं। 

कुछ डक स्पैरो हैं.



Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.



Statements:

Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma.

Conclusions:

Some Swati can be Vani.

All Manali being Vani is a 

possibility.

कथि: 

केवि कुछ स्वाखत मिािी हैं। 

केवि कुछ मिािी वाणी हैं। 

सभी वाणी रोमा हैं। 

खिष्कर्थ: 

कुछ स्वाखत वाणी हो सकती हैं। 

सभी मिािी के वािी होिे की सभंाविा 

ह।ै



Statements:

Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma.

Conclusions:

Some Swati can be Vani.

All Manali being Vani is a possibility.



Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a 

possibility.

किन: 

केवल िाम एक क्लकि  है। 

िाम १००% ईमानिाि हैं। 

दनष्कर्ि: 

सभी िाम ईमानिाि हैं।

सभी क्लकि  के ईमानिाि होने की सांभावना है।



Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a possibility.



Statements :

A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps.

II. All images being snaps is a 

possibility.

किन: 

कुछ दिगि इमेज हैं। 

0% थनैप इमेज हैं। 

दनष्कर्ि: 

कुछ दिगि थनैप नहीं हैं। 

सभी इमेज के थनैप होने की सांभावना है।



Statements :

A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps.

II. All images being snaps is a possibility.



Point P is 18m north of point Q. Point S is 5m east of point Q. Point Z is west of 

15m of point J. Point J is 5m west of point Q. Point N is 7m south of point Z. Point 

S is 7m north of point W. Point P is 3m east of point T .

दबांिु P, दबांिु Q के 18मी उत्ति में है। दबांिु S, दबांिु Q के 5मी पूवि में है। दबांिु Z, दबांिु J के 15मी के

पदिम में है। दबांिु J, दबांिु Q के 5मी पदिम में है। दबांिु W के उत्ति में दबांिु P, दबांिु T के 3मी पूवि में है |

What is the shortest distance between N and W?

N औि W के मध्य न्यूनतम िूिी क्या है?

(a) 20m

(b)15m

(c) 10m

(d)5m

(e)25m



Eight persons namely - Pappu, Karan, Rashmi, 

Suraj, Teena, Urmila, Vinod and Aniket live 

on separate floors of an eight-floor building in 

Tulsi apartment, chaarbagh - Lucknow. 

Ground floor is number 1; first floor is 

numbered 2 and so on until the topmost floor 

which is numbered 8.

Only two people live between Pappu and 

Karan. Vinod lives immediately above Suraj. 

Teena lives immediately above Rashmi. Teena

lives above Aniket. Urmila lives on an odd-

numbered floor. Only one person lives 

between Teena and Aniket. Pappu lives on the 

floor numbered five. Karan lives above 

Pappu.

आठ व्यखि - पप्प,ू करण, रखमम, सरूि, टीिा, 

उखमथिा, खविोद और अखिकेत तिुसी अपाटथमेंट, 

चारबाग - िििऊ में आठ मंखििा इमारत की 

अिग-अिग मंखििों पर रहते हैं। ग्राउंड फ्िोर 

िंबर 1 ह;ै पहिी मंखिि की संख्या 2 ह ैऔर इसी 

प्रकार सबसे ऊपर की मंखिि की संख्या 8 ह।ै पप्पू

और करण के बीच केवि दो व्यखि रहते हैं। खविोद

सरूि के ठीक ऊपर रहता ह।ै टीिा, रखमम के ठीक 

ऊपर रहती ह।ै टीिा अखिकेत के ऊपर रहती ह।ै 

उखमथिा एक खवर्म संख्या वािी मंखिि पर रहती 

ह।ै टीिा और अखिकेत के बीच केवि एक व्यखि 

रहता ह।ै पप्प ूपांचवीं मंखिि पर रहता ह।ै करण 

पप्प ूके ऊपर रहता ह।ै



Eight persons namely - Pappu, Karan, Rashmi, 

Suraj, Teena, Urmila, Vinod and Aniket live 

on separate floors of an eight-floor building in 

Tulsi apartment, chaarbagh - Lucknow. 

Ground floor is number 1; first floor is 

numbered 2 and so on until the topmost floor 

which is numbered 8.

Only two people live between Pappu and 

Karan. Vinod lives immediately above Suraj. 

Teena lives immediately above Rashmi. Teena

lives above Aniket. Urmila lives on an odd-

numbered floor. Only one person lives 

between Teena and Aniket. Pappu lives on the 

floor numbered five. Karan lives above 

Pappu.



Eight persons A, B, C, D, E, F, G and H are 

working in a company and have different 

salaries. (But not necessarily in the same 

order). No two persons' salary is same.

B's salary is fourth lowest but greater than that 

of D. C's salary is more than only one person. 

Salary of D is not the lowest in the company. 

Salary of E is second highest in the company. 

Salary of F is greater than H but not highest in 

the company. Salary of G is neither the 

highest nor the lowest in the company. Salary 

of G is lies between E and F.

आठ व्यखि A, B, C, D, E, F, G और H एक 

कंपिी में काम कर रह ेहैं और उिका वेति अिग-

अिग ह।ै (िेखकि िरूरी िहीं खक इसी क्रम में हो)। 

खकसी भी दो व्यखियों का वेति समाि िहीं ह।ै B 

का वेति चौथा सबसे कम ह ैिेखकि D से अखिक 

ह।ै C का वेति केवि एक व्यखि से अखिक ह।ै D 

का वेति कंपिी में सबसे कम िहीं ह।ै E का वेति 

कंपिी में दसूरे स्थाि पर ह।ै F का वेति H से 

अखिक ह ैिेखकि कंपिी में सबसे अखिक िहीं ह।ै 

G का वेति कंपिी में ि तो सबसे अखिक ह ैऔर 

ि ही सबसे कम ह।ै G का वेति E और F के बीच 

खस्थत ह।ै



Eight persons A, B, C, D, E, F, G and H are 

working in a company and have different 

salaries. (But not necessarily in the same 

order). No two persons' salary is same.

B's salary is fourth lowest but greater than that 

of D. C's salary is more than only one person. 

Salary of D is not the lowest in the company. 

Salary of E is second highest in the company. 

Salary of F is greater than H but not highest in 

the company. Salary of G is neither the 

highest nor the lowest in the company. Salary 

of G is lies between E and F.



Six boxes are placed one above another and they all 

are Z, Y, X, W, V and U but not necessarily in the 

same order. All the boxes are having different number 

of chocolates in the range of 11 to 40.

There are only two boxes kept above the Z box. Only 

one box is kept between the Z box, which contains 

maximum even-number chocolates but less than 15 

and the box containing 12 chocolates which is placed 

at top. The X box, which contains 21 chocolates, is 

kept immediately above the V box. The difference 

between the number of chocolates in the Z and V box 

is 5 and there are one box between them. There are 

two boxes kept between the box Y and the box X. Box 

Y is kept at one of the places above box W which is 

not placed at bottom. Box U and W has odd number of 

chocolates above 30 with a difference of 8. W has 

more chocolates than U .

छह खडब्बे एक के ऊपर एक रिे गए हैं और वे सभी Z, Y, 

X, W, V और U हैं िेखकि िरूरी िहीं खक इसी क्रम में हों। 

सभी बक्सों में 11 से 40 की रेंि में अिग-अिग संख्या में 

चॉकिेट हैं। Z खडब्बे के ऊपर केवि दो खडब्बे रिे गए हैं। Z

बॉक्स, खिसमें अखिकतम सम-संख्या वािी चॉकिेट हैं, 

िेखकि 15 से कम हैं और खिस बॉक्स में 12 चॉकिेट हैं, िो 

सबसे ऊपर रिा गया ह,ै के बीच केवि एक बॉक्स रिा गया 

ह।ै X बॉक्स, खिसमें 21 चॉकिेट हैं, V बॉक्स के ठीक ऊपर 

रिा गया ह।ै Z और V बॉक्स में चॉकिेट की संख्या के 

बीच का अंतर 5 ह ैऔर उिके बीच एक बॉक्स ह।ै बॉक्स Y 

और बॉक्स X के बीच दो बॉक्स रिे गए हैं। बॉक्स Y को 

बॉक्स W के ऊपर खकसी एक स्थाि पर रिा गया ह ैिो िीचे 

िहीं रिा गया ह।ै बॉक्स U और W में 8 के अंतर के साथ 

30 से ऊपर खवर्म संख्या में चॉकिेट हैं। W के पास U से 

अखिक चॉकिेट हैं।



Six boxes are placed one above another and they all 

are Z, Y, X, W, V and U but not necessarily in the 

same order. All the boxes are having different number 

of chocolates in the range of 11 to 40.

There are only two boxes kept above the Z box. Only 

one box is kept between the Z box, which contains 

maximum even-number chocolates but less than 15 

and the box containing 12 chocolates which is placed 

at top. The X box, which contains 21 chocolates, is 

kept immediately above the V box. The difference 

between the number of chocolates in the Z and V box 

is 5 and there are one box between them. There are 

two boxes kept between the box Y and the box X. Box 

Y is kept at one of the places above box W which is 

not placed at bottom. Box U and W has odd number of 

chocolates above 30 with a difference of 8. W has 

more chocolates than U .



There are eight persons A, B, C, D, E, F, G and H 

living on an eight-floor building (Ground floor is 

numbered 1 and topmost floor is number 8.) but not 

necessary in the same order.

B lives on even numbered floor above fourth floor. 

One person lives between B and F. G lives on odd 

numbered floor and there are two persons live 

between G and F. B lives above F. G does not live on 

floor number 1. Only one person live between G and 

A. D lives on even numbered floor above G. Only one 

person live between D and E. C lives somewhere 

above H. E does not live on lowermost floor and lives 

above A. H lives on odd numbered floor above floor 

number 3.

आठ व्यखि A, B, C, D, E, F, G और H एक आठ 

मंखिि की इमारत पर रहते हैं (भतूि की संख्या 1 ह ैऔर 

सबसे ऊपरी मंखिि की संख्या 8 ह।ै) िेखकि इसी क्रम में 

आवमयक िहीं ह।ै B चौथी मंखिि के ऊपर सम संख्या 

वािी मंखिि पर रहता ह।ै B और F के बीच एक व्यखि 

रहता ह।ै G खवर्म संख्या वािी मंखिि पर रहता ह ैऔर 

G और F के बीच दो व्यखि रहते हैं। B, F के ऊपर रहता 

ह।ै G मंखिि संख्या 1 पर िहीं रहता ह।ै G और A के 

बीच केवि एक व्यखि रहता ह।ै D , G के ऊपर सम 

संख्या वािी मंखिि पर रहता ह।ै D और E के बीच 

केवि एक व्यखि रहता ह।ै C, H के ऊपर कहीं रहता ह।ै 

E सबसे खिचिी मंखिि पर िहीं रहता ह ैऔर A के ऊपर 

रहता ह।ै H मंखिि संख्या 3 के ऊपर खवर्म संख्या वािी 

मंखिि पर रहता ह।ै



There are eight persons A, B, C, D, E, F, G and H 

living on an eight-floor building (Ground floor is 

numbered 1 and topmost floor is number 8.) but not 

necessary in the same order.

B lives on even numbered floor above fourth floor. 

One person lives between B and F. G lives on odd 

numbered floor and there are two persons live 

between G and F. B lives above F. G does not live on 

floor number 1. Only one person live between G and 

A. D lives on even numbered floor above G. Only one 

person live between D and E. C lives somewhere 

above H. E does not live on lowermost floor and lives 

above A. H lives on odd numbered floor above floor 

number 3.



Seven persons - I, J, K, L, M, N, and O have their 

birthdays in different months - January, March, April, 

June, July, September, and December, but not 

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday 

month is after I’s birthday month. N’s birthday falls in 

month having 31 days. J’s birthday month comes after 

N’s birthday month. L has birthday in a month having 

30 days. K has birthday in a month having 31 days but 

not in July and March. M’s birthday fall in a month 

having 30 days but before September. O’s birthday 

month is not after J’s birthday month. J’s Birthday is 

not in December. M birthday falls before O but not in 

the month of June. Only three persons have birthday 

between N and L.

सात व्यखियों - I, J, K, L, M, N, और O के िन्मखदि 

अिग-अिग महीिों - ििवरी, माचथ, अप्रैि, ििू, ििुाई, 

खसतंबर और खदसंबर में हैं, िेखकि िरूरी िहीं खक इसी क्रम

में हों। मेरा िन्मखदि 31 खदिों वािे महीिे में पडता ह।ै J का 

िन्मखदि महीिा I के िन्मखदि के महीिे के बाद ह।ै N का 

िन्मखदि 31 खदिों वािे महीिे में आता ह।ै J का िन्मखदि 

महीिा N के िन्मखदि के महीिे के बाद आता ह।ै L का 

िन्मखदि 30 खदिों वािे महीिे में ह।ै K का िन्मखदि 31 

खदिों वािे महीिे में ह ैिेखकि ििुाई और माचथ में िहीं ह।ै 

M का िन्मखदि 30 खदिों वािे िेखकि खसतंबर से पहिे 

वािे महीिे में आता ह।ै O का िन्मखदि महीिा J के 

िन्मखदि के महीिे के बाद िहीं ह।ै J का िन्मखदि खदसंबर में

िहीं ह।ै M का िन्मखदि O से पहिे आता ह ैिेखकि ििू के 

महीिे में िहीं। N और L के बीच केवि तीि व्यखियों का

िन्मखदि ह।ै



Seven persons - I, J, K, L, M, N, and O have their 

birthdays in different months - January, March, April, 

June, July, September, and December, but not 

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday 

month is after I’s birthday month. N’s birthday falls in 

month having 31 days. J’s birthday month comes after 

N’s birthday month. L has birthday in a month having 

30 days. K has birthday in a month having 31 days but 

not in July and March. M’s birthday fall in a month 

having 30 days but before September. O’s birthday 

month is not after J’s birthday month. J’s Birthday is 

not in December. M birthday falls before O but not in 

the month of June. Only three persons have birthday 

between N and L.



10  people A, B, C, D, E, P, Q, R, S, and T sit 

on two linear benches such that five people 

face south and other five face north and they 

face each other too but not necessarily in same 

order given above.

D sits in the middle of one of the row. B sits 

opposite to the one who sits in the middle of A 

and C. Two people sit between A and P. B is 

to the immediate left of D. E, who faces S, sits 

at farthest possible distance on the bench from 

R. A faces south. P and T face each other.

10 व्यखि A, B, C, D, E, P, Q, R, S, और T दो

रैखिक बेंचों पर इस प्रकार बैठते हैं खक पांच व्यखि

दखिण की ओर उन्मिु हैं और अन्य पांच उत्तर की 

ओर उन्मिु हैं और वे भी एक-दसूरे की ओर उन्मिु हैं

िेखकि िरूरी िहीं खक इसी क्रम में हों ऊपर खदया गया

ह।ै D खकसी एक पंखि के मध्य में बैठा ह।ै B, A और 

C के मध्य में बैठे व्यखि के खवपरीत बैठा ह।ै A और 

P के बीच दो व्यखि बैठे हैं। B, D के ठीक बायीं ओर 

ह।ै E, िो S की ओर उन्मिु ह,ै R से बेंच पर 

यथासंभव दरू बैठता ह।ै A का मिु दखिण की ओर 

ह।ै P और T एक दसूरे के सामिे हैं।



10  people A, B, C, D, E, P, Q, R, S, and T sit 

on two linear benches such that five people 

face south and other five face north and they 

face each other too but not necessarily in same 

order given above.

D sits in the middle of one of the row. B sits 

opposite to the one who sits in the middle of A 

and C. Two people sit between A and P. B is 

to the immediate left of D. E, who faces S, sits 

at farthest possible distance on the bench from 

R. A faces south. P and T face each other.



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

लोगों की तीन पीद़ियाां एक साि िहती हैं। परिवाि में

12 सिथय हैं अिाित। एम, एन, ओ, पी, क्यू, आि, एस,

टी, यू, वी, डब्ल्यू औि एक्स जो दपकदनक के दलए

बाहि गए िे। R औि Q, T औि S के बच्चे हैं। V, जो

W का ससुि है, R का चाचा है। T का एक बेटा औि

एक बेटी है। P, O का पदत है। O, Q की पुत्री है। M,

N का भाई है। R का दववाह U से हुआ है। N का दपता

U है, दजसकी केवल एक पुत्री है। S, U का ससुि है।

W, X की पत्नी है।

पाांच में से चाि एक दनदित तिीके से समान हैं औि

इसदलए एक समूह बनाते हैं। दनम्नदलदित में से कौन

समूह से सांबांदित नहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbour of C. More than two persons sit between F and E.

सात व्यखि A, B, C, D, E, F और G पंखि में बैठे हैं और सभी का मिु उत्तर की ओर ह ैिेखकि 

आवमयक िहीं इसी क्रम में हो। B खकसी एक अंखतम छोर से दसूरे स्थाि पर बैठा ह।ै D और B के 

बीच तीि व्यखि बैठे हैं। D और A के बीच दो व्यखि बैठे हैं। C, A के ठीक बाई ंओर बैठता ह।ै F, 

C के बाई ंओर बैठता ह,ै िेखकि C का खिकटतम पडोसी िहीं ह।ै F और E के बीच दो से अखिक 

व्यखि बैठते हैं।



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbour of C. More than two persons sit between F and E.



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P

P, Q, R, S, T, U के रूप में िेबि खकए गए छह 

बक्से एक स्टैक (ऊध्वाथिर व्यवस्था) के रूप में रिे गए 

थे िेखकि िरूरी िहीं खक इसी क्रम में हों। प्रत्येक बॉक्स 

को एक अिग रंग में खचखित खकया गया ह।ै बक्सों के रंग 

िारंगी, पीि,े बैंगिी, िीि, िाि और िीिे थे िेखकि 

िरूरी िहीं खक इसी क्रम में हों। S और T के मध्य दो 

खडब्बे हैं। S, िीि के खडब्बे के ठीक िीचे ह।ै िाि और 

बैंगिी बक्सों के बीच दो खडब्बे हैं। P को िारंगी खडब्बे के 

ठीक िीचे रिा गया ह।ै खडब्बा Q का रंग िाि िहीं ह।ै 

T को S के ऊपर िहीं रिा गया ह।ै Q और इखंडगो 

बॉक्स के बीच केवि िीिा बॉक्स रिा गया ह।ै पीिे 

खडब्बे को ढेर के िीचे से तीसरे स्थाि पर रिा गया ह।ै 

पीिा बॉक्स U के िीचे रिा गया ह।ै
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form of a stack (vertical arrangement) but not 
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There are 12 members in the family viz. M, 
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the paternal uncle of R. T has a son and a 
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married to U. Father of N is U who has only 
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is the wife of X.
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and hence form a group. Which one the 
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Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.
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and hence form a group. Which one the 

following doesn’t belong to the group?
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Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table. One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.

आठ व्यखि P, Q, R, S, T, U, V और W एक वगाथकार मेि के चारों ओर बैठे हैं, खििमें से 

चार कोिे पर बैठे हैं और शेर् मेि की भिुाओ ंके मध्य में बैठे हैं। उि सभी का मिु मेि के कें द्र की 

ओर ह।ै P और V के बीच एक व्यखि बैठा ह।ै V और S के बीच दो व्यखि बैठे हैं। P मेि के कोिे

पर बैठा ह।ै U, T के ठीक बायें बैठा ह।ै R, T के दायें से दसूरे स्थाि पर बैठा ह।ै Q, R के ठीक 

दायें बैठा ह।ै W, P के ठीक बायें िहीं बैठा ह।ै



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table.One person sits 

between P and V. Two persons sitbetween V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.


